SNV

842

| AN S ssea)

STOPPER BOLTS (SSB-A)

No.E-9537

S45C
FZ

NBK°®

OKEMIEFTANUE I MEFEECBNTNET,

EREILRIEE AHRC A5 F
FNEF v (25E) 18

OU—IDMBED, A/ BREDRRICRBECT .

E G B
C D
—
DI = — s
\A, t X {
‘ A
AR - s R * [EEIEER
F—5"—No. No. AGEE) B C D E F G H | EEg |
* 918674 | SSB-M0630-A | M 6X1 30 23.5 35 10 11.5 4 4.5 R 4 10.5| 370
* 918675 | SSB-M0640-A | M 6X1 40 335 35 10 11.5 4 4.5 R 4 12.8| 370
* 918676 | SSB-M0650-A | M 6X1 50 435 35 10 11.5 4 4.5 R 4 15 370
* 918677 | SSB-M0830-A | M 8%X1.25: 30 21.3 5 13 15 55 6 R 5 20.8 | 400
* 918678 | SSB-M0840-A | M\ 8%X1.25: 40 31.3 5 13 15 55 6 R 5 24.6| 400
* 918679 | SSB-M0850-A | M\ 8X1.25: 50 41.3 5 13 15 55 6 R 5 28.5| 400
* 932547 | SSB-MO0860-A | M 8%X1.25: 60 51.3 5 13 15 55 6 R 5 32.3| 400
* 932548 | SSB-M1030-A | M10X1.5 30 20 55 17 19.6 7 7 R 5 38 460
* 918680 | SSB-M1040-A [M10X1.5 40 30 55 17 19.6 7 7 R 5 43 460
* 918681 | SSB-M1050-A | M\10X1.5 50 40 55 17 19.6 7 7 R 5 48 460
* 918682 | SSB-M1060-A | M\10X1.5 60 50 55 17 19.6 7 7 R 5 53 460
* 918683 | SSB-M1070-A |[M10X1.5 70 60 55 17 19.6 7 7 R 5 58 460
* 918684 | SSB-M1240-A | M12X1.75 40 27.8 7 19 219 8 9 R 8 63 530
* 918685 | SSB-M1250-A |[M12%X1.75 50 37.8 7 19 21.9 8 9 R 8 72 530
* 918686 | SSB-M1260-A |M12X1.75 60 47.8 7 19 21.9 8 9 R 8 81 530
* 918687 | SSB-M1270-A |[M12X1.75 70 57.8 7 19 21.9 8 9 R 8 90 530
* 927332 | SSB-M1650-A | M16X2 50 35 9 24 27.7 10 12 R10 111 910
* 927333 | SSB-M1660-A | M16X2 60 45 9 24 27.7 10 12 R10 125 910
* 927334 | SSB-M1670-A |M16X2 70 55 9 24 27.7 10 12 R10 141 910
* 927335 | SSB-M1680-A | M16X2 80 65 9 24 27.7 10 12 R10 : 158 910
WERSI
L]
OvIFvhk

OwIFyNEZERIF 2 RHAITRALTIZE N

CADF—959y0—K - EERAE Web ¥ bT! [ 7~V

1

SINCE 1560

NABEYA co..Lp.

2023%128



